ATICTIIL AN TR 101 S2F RS — B AR C(I)E —REEEE

S

BRI - Tl —F4K

E—Ebr(EE 15 %% - F& 4 57)
1. x " yREE ECx+2y—-1)°+|—x+y+7|=0">Kkx yFRIE%/?

S

xX+2y—3z=4

2. Iﬁ@%ﬂ’ 2x —y+z=>51Ex,y,2) -
4y =3y —-Z=DH

o 2;:—-3/ +3(x — 2y) = —17
—5(x—2y) =38
4x—2V

—mi—p|V32—3V48+5 V32-348| _ n

a b =7,2[2| 3b ia%I?Eﬂ

,. o Z
6387, =3 —4i, Z, =1+ 2i » R TFHIEXHMEQ) 2Z, — Z, (2) ..Z_l :
2

7. FHCEMEER? (A5 - TAEH (B)3 + S RAE

b

8. THEIEEZEEM 2 (A) i®° =—i (B)3 - 2iEH &—2i (C)V-2xV-8=—-4 (D) EE

Z=ag+bi-BZ=Z:Flb=0-¢

0. Ha bEEE» HZ, =1+bi, Z,=a+2+4i» 7, =7, ' KEH(a,b) -

N

10. 3x ~yREB B —y)Q2+i)=4+7i RKEHKXY)
11. FHa, b BEE » EHERXx*+ax+b=0F—R2 —i  X&¥(@a,b) -

(14D (2- D)3

12. 337 = » B Z| Z (& Rl -

—3%1

13. HERRALRE(L0,— m) LR E AR -

14. 50K—7 — 24iHYF 1R -

F—E TR
R Bn B R H 0 EIFE

oM

B (O) iI*/EERL (D)—{E+ % 3 RV E




B (L 8 TR 5 7)
15. ZaFEX 22 +x+1=0Z—EEIR > Al 0P 2% 7

16. Z = cos154° + isin(—26°) » BllArg(Z)E&%/V ?

17. RW3 - D6+ (V3 + D)° -

S
o

CUE 4 Kk - HEMHEZEME - AIZHH 24 X7 He5e

Ny

18. H— T2 » BEFZEME - Al 12 KA1 &

T > RRE - ZEBfE - EFERELY

19. Ba - BAFREE x% + 6x + 4 = OWIWIR » HiWa + B)I?ZED 7

i W s
20. 327, =2 +ai*Z, = 2b+ (2 — b)i> Hfa » bRER - E|Z,| = V2|Z,| » B—H988; a%;ﬂ@i%ﬁ(a,b)ﬂ

1. 1 <n <100 FH1+ V)" EEE I IEERN - FLERE?

9 14i+i2+ i3+ -+ (2012 4 (2015 A {F Bofo] 7

W s

pE=
——

AN
cit

T
C



